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GENERAL STUDIES

Paper 2

Time : 3 Hours ] [ Maximum Marks : 300

INSTRUCTIONS

Each question is printed both in English and in Kennada.

Answers must be written in the medium specified
(English or Kannada) in the Admission Ticket issued to
vou, which must be stated clearly on the cover of the
answer book in the space provided for this purpose. No
credit will be given for the answers written In a medium
other than that specified in the Admission Ticket.

Candidates should attempt questions from all Sections.

The number of marks carried by each question is indicated
at the end of the question.

The length of the answers should not, as far as possible,
exceed the specification given at the end of each question.
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SECTION A

Discuss the constitutional position of the civil services 11 India, indicating
how their impartiality and independence are ensured. Trace the growth of

civil services in Karnataka. (Aboud 250 words)
OR

“The decision of the present government on the formation of three
smaller states by bifurcating three bigger states 18 like opeming a
Pandora’s Box with long-term and short-term implications”

write a mnote on the present
disputes and demands for

While giving your comments on  this,
situation in Karnataka as repgards border
separate statehood.

“Karnataka is the land of silk, sandal, coffee and gold,” — Justify the
statement with facts. (About 250 words)

OR

What measurcs has the Government of India taken to attract foreign
investment as part of a new strategy of industrial development in
India ? What is the present industrial scene 1n Karnataka 7

Nuclear power stations present a distinct means of overcomng the power
shortage in India. What is the present status of nuclear power generation
in India and the pros and cons for future growth ? (About 250 words)

OR
Bangalore has found a place among the top few cities in the world in

the field of electronics. Elaborate on the achicvements that have led to
this honour and the contributing factors that have helped.
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SECTION B

4. Answer any fwe of the following : (About 150 words each) 20x2=40

(a} Does calling for or holding a bandh by political parties tantarnount
to wviolation of the Fundamental Rights of individuals protected
under Articles 19 and 21 of the Constitution ? Comment.

(b) Explain the role of Third World countries in the promotion of the
New International Economic Order (NIEO).

(¢} Write a note on the Rs. 1000 crore water resources plan evolved by
the state of Karnataka,

(d} Can the President act independently of the adwice of the Council of
Ministers ? Elucidate.
5. Answer any two of the following (About 150 words each) 20x2=40

(ay How far has the Green Revolution been responsible for

socio-economic changes in rural Karnataka ?

“(b; Explain the factors of industrial location with special reference to

Karnataka.

(¢) What were the objectives of the public sector enterprises in India 7
To what extent have they been met during the last two decades ?

(d) Discuss the role of infrastructure in the country’s 2CONOMLC

development.

8. Answer any three ol the following : (About 75 wards each) 10x3=30

(a) What does the term ‘Monsoon’ imply 7 Discuss the main
characteristics of the summer rainfall and its significance in the

agricultural economy of the country.
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Describe the distribution and production of Tron ore or Manganese

in the country.

How has the topography of Karnataka state become helpful for the

development of hydrec power projects ?

The construction of Konkan Railway will be a boon for Karnataka.
Why and how ?

India's progress in the development of satellites has been

noteworthy. Describe India’s status in the field.

The recent developments in the ear industry are & clear indication
of high technology absorption by India from different parts of the

world. Give your comments on the phenomenan.

Doordarshan has played a major role in the spread of information

to millions in the country. Elaborate on the role of this medium.

Comment on the potential role of computers in the development of

the country.

o of the following : (About 100 words each) 20x2=40
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SECTION C
8. Answer fen questions, selecting at least three from each of Groups I, II
and IIT (Answer to eqch question should be in about 25 words) - 3x10=30
GROUP 1

(1} What is the longitude for Indian Standard Time ? What are the
~approximate boundary longitudes for Karnataka °

2) What was the approximate per capita income of Karnataka in
1997-98 at current prices ? How does it compare with the national
average ?

(3) What are the ratios of Male/Female and Urban/Rural literacy in
Karnataka ? What are the major implications of each ?

(4) Name the major wildlife sanctuaries of Karnataka. Of these, which
are the ones covered by Project Tiger ?

(5) What has been the pattern of rise in the inflation rate during
1998 ? How is the inflation rate determined ?

GROUP 11

(6) Name the years in which Article 356 has been imposed in
Karnataka. Which are the states involved in this controversy
recently ?

(7)  How many MPs does Karnataks send to the Lok Sabha ? Of these,
what is the party-wise break-up at present ?

(8)  Which are the riparian states of the Krishna river 7 What is the
Almatti Dam controversy about ?

(9)  What 15 Article 370 2 Why did the BJP fail to fulfil its manifesto
commitment with regard to this Article ?

10} Which are the states with two houses of legislature ? What is the
number of seats in the Legislative Council of Karnataka ?
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GROUP 111
Write notes on
(11} ISRO Satellite Centre
(12) India’s Missile Programme
{13) Dakshin Gangotri and Maitri
(14) LASER

(15) Cryogénic Engines
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